
Week 3

This week we have a more simple edging which I designed
especially for this occasion. I adjusted some crossings for 
designer reasons.
You need 16 pairs of bobbins with linen 40/2  or similar.
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The connection of the waving braid and the straight brais is made as
follows: 
The whole stitch pair leaves the braid and goes twisted twice to the
plait. It crosses the plait in a cloth stitch in which the pairs of the plait
are considered to be 1 bobbin. Place the pin in the centre of the stitch.
Then twist three times, include the pair in to the waving braid once. 
After that twist three times and make a crossing with the plait and 
the workers of the straight braid. Twist those workers once before
making the crossing. This crossing is made as a 6-pairs crossing in which
the twisted pairs are considered to be a plait. See drawing below.
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After this crossing the right pair goes back to the waving braid, 
is included into it for one pin, crossis the plait as described above and 
takes its place in the straight braid again as the whole stitch pair.


